
In vigore dal - Effective from    15-12-2021106

OP
C

C

A

B1

B7

I

J E

F
G

H

L

N

M

M1

P

STANDARD

O

CIK-FIA

K

Tav. 51 CARENATURE
BODYWORKS M6 - M7

B2 B3 B4 B5 B6

M3
M2



Rif. Cod. M6 + M7 BODYWORKS ￥

51 Description Tax  included
A 0306.FCPB ﾌﾛﾝﾄｽﾎﾟｲﾗｰ M6 ONLY M6 front fairing  without supports 21,780
A 0306.FCPKIT Musetto anteriore M6 con attacchi M6 front fairing  with  supports 0
A 0306.FCPHKIT Musetto anteriore M6 con attacchi CIK M6 front fairing  with CIK supports 0

B1 0302.G0 ﾌﾛﾝﾄﾊﾟﾈﾙ M7　KIT M7 Pearl front spoiler kit +  yellow number plate 42,900
B2 0302.G0A M7 Light Blue front spoiler kit +  yerllow number plate
B3 0302.G0B M7 Blue front spoiler kit +  yerllow number plate
B4 0302.G0NG M7 Black Glitter front spoiler kit +  yerllow number plate
B5 0302.G0R M7 Red front spoiler kit +  yerllow number plate
B6 0302.G0V M7 Green front spoiler kit +  yerllow number plate
B7 0302.G02 M7-M8 ﾅﾝﾊﾞｰﾌﾟﾚｰﾄ M7 / M8 yellow number plate 10,890
C 0300.FCP ｻｲﾄﾞﾎﾞｯｸｽ M6 M6 side box 16,170
E 0305.E0C ﾌﾛﾝﾄﾊﾟﾈﾙﾛｱｽﾃｰ M6 CIK/215mm M6 CIK lower spoiler's support 2,750
E 0305.F0C ﾌﾛﾝﾄﾊﾟﾈﾙﾛｱｽﾃｰ M7/M8-MK20 CIK/190mm M7/M8-MK20 lower spoiler's support 2,750
E 0305.E0 ﾌﾛﾝﾄﾊﾟﾈﾙﾛｱｽﾃｰ M6 STD/205mm M6 Standard lower spoiler's support 2,750
F V.TPSCEI6X25 ｻﾗﾎﾞﾙﾄ 6X25 TPSCEI screw 6x25 mm 44
G 0033.00 ﾛｾﾞｯﾄﾜｯｼｬｰ M6/ALU Biconical AL washer Ø 6 mm 264
H 0031.00 ﾗﾊﾞｰﾜｯｼｬｰ6X20 Rubber Ø 6x20 mm Red 88
I V.TCE6X20 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X20 TCEI screw 6x20 mm 33
J R.P.6X12 ﾜｯｼｬｰ D.6x12 Washer Ø 6,3x12,5x1 mm 22
K D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 mm 22
L D.M6A.A. Dado M6 A.A. A.A. nut M6 mm 0
M 0304.F0 ﾌﾛﾝﾊﾟﾈﾙﾊｲｽﾃｰ M6 1pc M6 - M7 upper spoiler's support 2,860

M1 0304.F0A ﾌﾛﾝﾊﾟﾈﾙﾊｲｽﾃｰｻﾎﾟｰﾄ M6-7-8 M7 upper spoiler's support stiffener 2,090
M2 V.TB5X16 ﾎﾞﾀﾝｽｸﾘｭｰ 5X16 TB screw 5x16 mm 88
M3 R.E.5 ｽﾌﾟﾘﾝｸﾞﾜｯｼｬｰ D.5 Spring washer Ø 5 mm 22
N V.TPSCEI6X20 ｻﾗﾎﾞﾙﾄ 6X20 TPSCEI screw 6x20 mm 44
O 0306.FCHKIT ﾌﾛﾝﾄｽﾎﾟｲﾗｰﾌﾞﾗｹｯﾄ M4/5/6 TYPE CIK 1pc Connection Kit type CIK for M4 - M5 - M6 front fairing 2,750
P 0306.FCKIT ﾌﾛﾝﾄｽﾎﾟｲﾗｰﾌﾞﾗｹｯﾄ M4/5/6 TYPE STD 1pc Connection Kit Standard for M4 - M5 - M6 front fairing 2,750

0302.FCP ﾌﾛﾝﾄﾊﾟﾈﾙ M6 M6 front spoiler 7,590


